’TK B A oh 20 18 8 H R AT (— ) B EEED

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

R RAGIGEER R - = RESWRIMN2Z/3 -

PRI L B SRS R R TR RS -

LR HEREE 2

Super short form, light weight large Through-Hole, just as 2/3 of typical model
length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

I AR M E AL S AR AR - (BIEm )

Linear sensor can be attached.(optional)

= EFERFEIR Patent numbers:
&% : PATNO.M491534(Taiwan)
KPBE : PATNO.ZL201420584274.5(China)

W1 3~Mounting Hole 6~X2 25 Q P ﬁ 6~L1
. =R -
- - =
NT °§ = 9 ¢ 8 éf&: w o O o
o, - 8 8 § g 8 8 8 8 =
2x2~Q3
P 4/
_4~Y2 | | — z |l L
) \Y (i
rer g o | U L] et
Drain Port ##L am— P =7 )
233 AllB J)r ‘ K
Subioct i ochicar hanges

z H1l5371% SPECIFICATIONS
i By SEEEMER. picton area e BEEHY | BERREN ! £8 HARE
i’é Model ‘ # il (Extend) ‘ HiIfil(Retract) Piston stroke Max. speed Max. pressure  Moment of inertia ~ Weight Total oil leakage
i ‘ cm? ‘ cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg lit. / min.
il TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0

TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0

TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0

TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0

TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0

TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0

TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9

TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 3.9

TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 1.7 3.9

TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 19.2 4.2

TK-A1075 170.1 155.3 25 5500 4.5(45) 0.065 18.8 4.2

TK-A1078 170.1 1553 25 5500 4.5 (45) 0.065 17.4 4.2

*EKERTERIEEFSHEMWHEE - *Coolant Collector and Confirmation Device Please See Accessories pages.

65 AuToGRrIP



SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK 8 &G BY o 22 30 BB BR L (— ) B EEEL

MBI R <F DIMENSIONS

A E G1 G2
Model R B (0] D F H J K L L1 L2 M1 M2 M3
| DI h7 max. min. max. min.

TK-A528 105 141 125 125 110 45 12 0 38 26 49 775 123 6~M8x20 M8x55 14  M38x1.5 25 13
TK-A533 105 141 125 125 110 45 12 0 38 26 49 775 123 6~M10x20 M8x55 14  M38x1.5 25 13
TK-C643 128 156 140 140 120 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 M50x2 25 13
TK-A646 128 162 147 147 130 65 15 O 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13
TK-B646 128 162 130 147 100 65 15 O 44 29 66 95 135 12~M10x20 M8x70 12 M55x2 30 15
TK-C646 125 156 140 140 120 65 15 O 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13
TK-B846 145 185 170 165 130 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M55x2 30 15
TK-A853 145 185 170 165 140 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15
TK-B853 145 185 170 165 130 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15
TK-A1068 170 212 190 190 160 95 25 0 50 25 74 108 158 12~M10x20 M10x80 @ 16 M75x2 35 15
TK-A1075 170 212 190 190 160 95 25 O 50 25 74 108 158 12~M10x20 M10x80 @ 16 M85x2 35 15

TK-A1078 170 212 190 190 160 95 25 O 50 25 74 108 158 12~M10x20 M10x80 @ 16 M87x2 35 15

01 02 R S
Model N1 N2 N3 P Q1 Q2 Q3 T u \ W1 W2 X1 X2 Y1 Y2 z
H8  H8 a7 H7

TK-A528 M39x15 25 8 35 28 79 85 30 RC14 37 62 70 98 6 62 110 49 M6x6 83  MbSx6 @5
TK-A533 M39x15 25 8 35 33 79 85 30 RC14 37 62 70 98 6 62 110 49 M6x6 83 | Mb5x6 5
TK-C643 M52x15 29 9 45 43 87 85 36 RC38 50 76 (8 116 95 74 120 64 M6x10 98 M5x6 5
TK-A646  M52x1.5 29 9 50 46 87 85 36 RC3/8 50 76 (8 116 95 74 120 64 M6x10 98 M5x6 5
TK-B646  M52x1.5 29 9 50 46 97 85 36 RC3/8 50 | 76 |8 116 95 74 120 64 M6x10 98 M5x6 5
TK-C646  M52x1.5 29 9 50 46 87 85 36 RC38 50 76 8 116 95 74 120 64 M6x10 98 M5x6 5
TK-B846  M58x1.5 30 8 50 46 97 85 36 RC38 56 85 |96 128 115 79 130 73 Méx12 110 Méx6 5
TK-A853 M58x1.5 30 8 55 53 97 85 36 RC3/8 56 8 | 96 128 115 79 130 73 Méx12 110 Méx6 5
TK-B853 M58x15 30 8 55 53 97 85 36 RC3/8 56 | 8 |96 128 115 79 130 73 M6x12 110 M6x6 5
TK-A1068 M84x2 34 9 70 68 110 12 40 RC1/2 81 108 121 164 10 98 160 98 M6x12 155 M6x8 5
TK-A1075 M84x2 34 9 80 75 110 12 40 RC1/2 81 108 121 164 10 98 160 98 M6x12 155 M6x8 5

TK-A1078 M84x2 34 9 82 78 110 12 40 RC1/2 81 108 121 164 10 98 160 98 M6x12 155 M6x8 5

Z
i
B
@
L]
il

AUTOGRIP 66



e A ch ZE B S BRG] () RiEERE R
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

A T«

- o B - ARAKAEEMNEG - = RERKMKREN2/3 -
N L o NERY IR HIAE KB SR B -
i, o LRRUHEIKEEL -
® Super short form, light weight large Through-Hole, just as 2/3
of typical model length.
Built-in safety check valves and pressure relief valves.
® Can screw it from the rear end of the cylinder when mounting.
oI NAR M BN R RS - (EREm )
Linear sensor can be attached.(optional)
B FHFEmFI Patent numbers:
&% : PATNO.M491534(Taiwan)
ABE : PAT.NO.ZL201420584274.5(China)
W1 3~Mounting Hole 6~L1
T 3|
8| 2 & 5 488 8
2x2~Q3 M1
Pressure Port
fma
L
RC1” 2 G1
Drain Port #M+L 3
233 AllB D" K
IREBIREIELRIER T
Subject to technical changes
$1li#31& SPECIFICATIONS
Eidk SEEETEER. piston area 718 EeOEg e ERET I ES wmHRE
o # {8 (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure  Moment of inertia Weight Total oil leakage
oce cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) kg'm? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
7o TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
H TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
B
% TK-2114 373.2 336.1 35 2500 3.0 (30) 0.54 58.2 8.0
L2 9N ~F DIMENSIONS
i A E G1 G2
Model me B C D F ) ) H J K L L1 L2 M1 M2 M3 N1
ID. h7 max. min. max. min.
TK-A1287 200 245 215 225 180 110 30 O 59 29 86 126 184 12~M12x24 M10x90 14.5 M95x2 35|15 M99x2
TK-A1291 200 245 215 225 180 110 30 O 59 29 86 126 184 12~M12x24 M10x90 14.5 M100x2 35 15 M99x2
TK-A1511 | 250 300 275 275 230 140 30 O 58 28 102 156 226 12~M16x36 M12x110 21 M120x2 45 15 M129x2
TK-A1512 250 300 275 275 230 140 30 O 58 28 102 156 226 12~M16x36 M12x110 21 M130x2 45 15 M129x2
TK-2114 265 320 295 295 240 165 35 0 | 60 25 115 173.5 247.5 12~M16x32 M12x120 17.5 M155x2 45 20 M149x2
o1 02 R S
Model N2 N3 P Ql Q@2 Q3 T u Vv wi w2 X1 X2 Y1 Y2 z
H8  H8 g7 H7
TK-A1287 38 9 90 87 1275 15 45 RC1/2 | 96 120 138 180 7 110 185 108 M6x10 165 M6x10 5
TK-A1291 38 9 95 | 9 1275 15 45 RC1/2 96 120 138 180 7 110 185 108 M6x10 165 M6x10 5
TK-A1511 38 9 115 110 153.75 17 50 RC1/2 126 150 170 227 7 134 210 138 M6x10 210 M6x9 6
TK-A1512 38 9 125 120 153.75 17 50 RC1/2 126 150 170 227 7 134 210 138 M6x10 210 M6x9 6
TK-2114 38 9 145 140 170 17 50 RC1/2 146 170 190 250 7 145 210 160 M6x10 230 M6x10 6

*EKERITERIDEEZELSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

67 AUTOGRIP



e=x:1
(it

+A%G 5 b 72 T 8 E AT (=) e—
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

A K

o REMEIR . AT SEDEHELT -
o N7 E NS KB TR R -
® New design, short form, light weight large through-hole.
® Built-in safety check valves and pressure relief valves.
oM INARMEE M R MRS - (EER)
Linear sensor can be attached.(optional)
m  ERESRFI Patent numbers:
&4 : PATNO.M491534(Taiwan)
ABE : PAT.NO.ZL201420584274.5(China)
wi ex2 22 P 6L
N1 0 I
[ag——— L/S/ _
X 2= Ly T —
z \ 9 ||N2 )
YA - @3‘
8}:{# ﬂ—},,oq,_wmg 5 Liw| oo
. SRR 50 & Q| M3 M8 |8 8|8
2x2~Q3 \
Pressure Port &, DN — U]
g NM1
4
4~Y2 Z
L Vv H G1
RCT1" Y © R E—
Drain Port J2A%L L G2 : J
033 (TK-2820:039) | |t T K
Dr
Bl
(REBIRAE AR o
Subject to technical changes
K ifi#R1% SPECIFICATIONS
BISR SEZEMETE Eff. piston area 712 REEEH EeERERT I 3 wRRE
18 (Extend) i) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia ~ Weight Total oil leakage Zz
Model N
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min. ;;.i
TK-2416 418.4 3754 35 2000 3.0 (30) 1.12 78.0 9.0 4}
Ed
TK-2416L 418.4 3754 51 2000 3.0 (30) 1.31 79.2 9.0 z_l’
TK-2820 526.2 472.6 51 1600 3.0 (30) 2.4 134.0 10.0
9NEIR~F DIMENSIONS
| e et e | |
Model - © F - . H J K L M1 M2 | M3 N1 N2
A7EI.D. ‘ h7 ‘ max. = min. ‘ max. ‘ min. ‘ ‘
TK-2416 290 340 300 260 190 35 0 60 25 129 1855 275 M16x32 M180x3 | 45 20 M174x2 38
TK-2416L 290 340 300 260 190 51 0 76 25 145 2015 291 M16x32 M180x3 45 20 M174x2 52
TK-2820 340 395 360 320 235 51 0 76 25 152 | 2125 316 M20x40 M220x3 45 20 M218x2 52
o1 02 R S
Model P Q1 | Q2 Q3 T u VoWt w2 | X1 X2 Y1 Y2 z
H8  Hs \ o7 | HT \ \
TK-2416 170 166 186.5 20 50 RC1/2 171 202 220 | 292 7 167 250 188 M6x11 260 M6x12 5
TK-2416L 170 166 2025 20 50 RC1/2 171 202 220 | 292 7 167 250 188 M6x11 260 M6x12 6
TK-2820 210 205 216 21 50 RC1/2 215 262 285 360 7 2025 300 240 M6x12 320 M6x12 6

*EKERITERIDEERLSHSMHEEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

AUTOGRIP 68



SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

’ TS AAEBIEE 2 aE AR ARG

EHREERET - AL IE B S ERET -
BAASNEEACKEMIN 2 EBALNERIERX -
R | B SR AR R R TR R -

ZERFEHERHEEZ

Bigger bore through-hole design.Super short form, light weighted.
Built-in safety check valves and pressure relief valves.
Front/Rear end mounting.

O3 fE @40 5f @60 MNABEKERDE -

O INAR M EN RS - (EMEm )

Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, B60.

Linear sensor can be attached.(optional)

B ENE@RFSR Patent numbers :
&% : PATNO.M491534(Taiwan) / APBE : PAT.NO.ZL201420584274.5(China)

w1 Q1 P L2 6~L1
2~ BRITAT, - [
i 25 (B — ———
Mounting Hole 6~X2 *H« | | T == -
-5 Y1 N1 =
&= T -
___ /[ 1| oINz
] i ﬂ‘g\ 4 2SN
3 S AFiME 5481888
| SR CE .
2x2~Q3 At - i LIRS
PSR
Pressure Port ~ M1
=
4-¥2 L
[
O, X 3
Drain Port  ~
==
‘ @33
1
RBIIE SRR Al B ﬂ r
= Subject to technical changes T
;E i li#31& SPECIFICATIONS
£ itk ‘ JEZEETE Eff. piston area 12 EeOEY SN e ) | ‘ E HmERE
5% Vodel ‘ # i (Extend) ‘ H1fil(Retract) Piston stroke Max. speed Max. pressure  Moment of inertia ‘ Weight Total oil leakage
ode
;}L’ cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TS-539 72.4 67.1 15 8000 4.5(45) 0.012 6.9 3.0
TS-866 168.0 155.5 25 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 174.3 25 4800 4.5(45) 0.085 21.2 43
4R <) DIMENSIONS
A E G1 G2 | [ ]
Model WE B BT C D F : . H J K L L1 L2 M1 ‘ M2 ‘ M3
h7 max. min. max. min.

1.D.
TS-539 107 143 141 125 125 110 52 15 0 425 275 57 91 124 6~M10x20 M8x60 12 M45x1.5 25 12
TS-866 165 211 207 190 190 168 85 25 O 55 30 725 107 149 12~M10x20 M10x80 17.5 M75x2 35 15
TS-1081 180 226 222 205 205 168 100 25 O 58 33 | 74 115 166 12~M10x20 M10x80 16  M90x2 35 15

Model N1 N N 2 g Q3 R Sor U v oW w2 xi X2 Y1 Y2 z
ode
(H8) | (H8) 97)  (H7)

TS-539 M44x1.5 26 8 42 39 85 85 30 RC1/4 42 69 72 103 10 62.5 100 54 M6x10 90 M5x12 5

TS-866 M74x1.5 37 ' 8 72 66.5 105 12 45 RC1/2 72 100 111 154 12 95 140 88 M6x12 140 M6x10 5
TS-1081 M89X2.0 38 9 85 81 109 15 45 RC1/2 86 113 123 175 16 103 160 103 M6x12 160 M6X10

*EKERTEERIREFSHENMHEE - *Coolant Collector and Confirmation Device. Please See Accessories pages.

69 AuToGRIP



[y
gt
[
iy
il
it

o 22 30 §5 H BR ]

ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

4 ™

=

HEE K8 KAKLLIRERET -
WL |7 B SHEE - olb LB AIRNESACE MBS - BIRENAR
B - MEERHERBNRFIEY -

®  Super high speed, light weight large Through-Hole.

® Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious accident.

n ORISR - (BIEm)

m  Linear sensor can be attached.(optional)

|
|
1
oS -l wnl 87 = ww ool o
) 07 T T
SRR SEERIGTREERIE
1
7 ) M1
A
4/ ‘ q
X2/ L
] VA== B
(TH-428:RC3/4”) / — 3 G2 = H G1
RC1” Drain Port E% E%
SEHA L J
B33 | (TH-428:926.5) ‘ K
7o
i
REBRIBIELAER) :Eﬂ
Subject to technical changes /!
BR
g #i1& SPECIFICATIONS ;E
Eithi3 JEZEEIE Eff. piston area 718 =B B EREN I B8 mRRE i
848 (Extend) I8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia ~ Weight Total oil leakage il
Model
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 ‘ 15 8000 4.0(40) 0.05 8.3 ‘ 3.0
4M R <) DIMENSIONS
A
Model A B C D E F & G.1 e G.2 H dJ K L M1 M2 M3
ID. (h7) max. min. max. min.
TH-428 90 130 120 | 100 ‘ 80 40 ‘ 10 0 35 25 ‘ 45 ‘127.5 155 6-M8x15 M33x1.5 25 12
TH-A536 105 150 135 115 ‘ 100 48‘ 15 0 40 25 ‘40‘ 118 166 = 6-M10x20 M42x1.5 25 ‘ 15
o1 02 R
Model N1 ‘ N2 (H8) (H8) P Q1 ‘ Q2 Q3 @7) ‘ S T U Vv W1 ‘ W2 X1 ‘ X2
TH-428 M34x1.5 26 30 ‘ 28 1015 11 ‘ 24 RC1/4 32 ‘ 45 65 86 4 72 ‘ 105 76 ‘ M4x7
TH-A536 M44x1.5 28 38 ‘ 36 1115 10 ‘ 24 RC1/4 42 ‘ 55 73 98 4 80 ‘ 110 83 ‘ M5x10

*EKERITERREEZSHSMAEE - “Coolant Collector and Confirmation Device Please See Accessories pages.

Autocrip 70




B4E 7L P 2o B R manEy
SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

S REER  ESKI -

NESANF FREBERE 22 REEEE
RéamA BB - AREX - HOHIRE -

BHLEREARNHETEME - THEHAEEE -

O eI BB TV 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

CIf MNARMEE AL AR HEAE - (R m )

Linear sensor can be attached.(optional)

Y AL

o

=z O =n0,

HREMZFIE Patent numbers:
&% : PATNO.M491534(Taiwan)
KRB : PAT.NO.ZL201420584274.5(China)

Q1 P , L2 6~L1
"5 50 6~V2 W;H - L]
% I }
B N1 Rl 7
B /AN o3| | v NZ[IN3] THB wlwl o o @
2 N = e 8| 8 § ¥ @
i W)E:! SIS s || &
2x2~Q3 g = U
Pressure Port [T
e, d::}l |
U1 \\\ U1 4~\W\2 4 —]
I T YV&, S|
e | ] P
Drain Port
o, J Z1
G2 K G1
I
A\ \B Jr
REBIRBIE LT
Subject to technical changes
H1li#1& SPECIFICATIONS
o EISR JEZEMTE Eff. piston area 1772 EeEY EaEREN I 52 mRRE
i
S Vodel 818 (Extend) I8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Total oil leakage
ode
53 cm? cm? mm min”(r.p.m.) MPa(kgflcm?) kg-m? kg lit. / min.
| TR-539 724 67.1 15 8000 4.0(40) 0.010 6.8 3.0
ﬁ TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0
TR-853 135.3 125 20 6300 4.0(40) 0.032 11.5 3.9
TR-1075 170 155 25 4500 4.0(40) 0.065 18 4.2
SN~ DIMENSIONS
A E G1 G2
Model A€ B C D B . . H J K L L1 L2 M1 M2 M3
ID. h7 max.  min. max. min.
TR-539 107 143 125 125 110 52 15 O 34 19 4 97 133  6-M10x20 M8x60 12 | M45x1.5 25 12
TR-646 128 165 147 147 130 65 15 O 34 19 35 97 135 12-M10x20 M8x60 11.5  M55x2 25 13
TR-853 145 185 165 170 130 70 20 0 47 27 45 1185 160 12~M10X20 M8x75 12 M60x2 30 15
TR-1075 170 212 1190 190 160 95 25 O 52 27 45 1295 181 12~M10x20 M10x1.5 16 M85x2 35 15
o1 02 R
Model N1 N2 N3 P Q1 Q2 Q3 S T U1 U2 V1 V2 W1 W2 z Z1
H8  H8 a7
TR-539 M44x1.5 8 25 42 39 925 65 26 RC1/4 42 40 103 525 55 53 M5x8 90 M5x9 RC1/2 5
TR-646 M52x1.5 8 25 50 46 95 5 32 RC3/8 50 50 116 59 62 615 M5x9 98  M5x9 RC1/2 5
TR-853 M58x1.5 8 30 55 53 114 8 34 RC3/8 56 50 128 65 67 70 M5x10 110 M6x11 RC1/2 5
TR-1075 M84x2 9 33 80 75 1235 12 40 RC1/2 81 50 164 83 86 95 M5x10 155 M6x11 RC3/4 5

*EKERITEERREHRS

71 AUTOGRIP

BZM#EE - “Coolant Collector and Confirmation Device Please See Accessories pages.



Py 50 | E 6] o B8 20 83 5P [ER ] B

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

o A . HiF . KSIVEEHET -
o NEI IR SHIAE KR TR BR R -
o LRRUBEIKHEELY -
®  For short form, light weight and high speed rotary cylinder.
® Built-in safety check valves and pressure relief valves.
® Can screw it from the rear end of the cylinder when mounting.
R EES Y B ELDREE DB RES B -
The drain port should be independently connected to oil tank to avoid back
pressure.
L2
He—=——==
6~L1
8
: 8 85g
- A B |Dr 1B RS
g
RC1/4” o
Drain Port JE#4L
2~RC3/8” (RK-200:RC1/2") E
(RK-75:60) Pressure Port #5387, SN
H G
2~RC1/2
4AY
Pressure Port  #5H7FL Qa p J
NA) M
2 AL
®
RC3/8” ﬁL
Drain Port S#3H7L R
(RBIEIEBEIHER RK-250
Subject to technical changes -
F: it #34% SPECIFICATIONS
my EEEM EF. pidton area R REoEY BEERE) | 55
o ‘ # {8 (Extend) ‘ HiI{8) (Retract) Piston stroke Max. speed Max. pressure ‘ Moment of inertia Weight ZE
oce ‘ cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) ‘ kg:m? kg H
B
RK-75 44.2 371 15 6000 4.0 (40) 0.01 29 %
RK-100 785 715 20 6000 4.0 (40) 0.03 4.4 [
il
RK-125 122.7 1131 25 6000 4.0 (40) 0.05 6.9 i
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 314.1 290.4 35 5500 4.0 (40) 0.28 15.4
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 452
4R~ DIMENSIONS
E G G M
Model A B C DI D2 (h7) F‘max. min.‘H J K L L1 L2 (H8) N‘N1‘P‘Q R S
RK-75 75 15 107 90 90 65 30 45 30 57 148 M20x2.5 6-M8x16 M8x60 12 21 35 5 415 10 275 26

RK-100 100 20 132 115 100 80 30 45 25 72 163 M20x2.5 6-M10x20 ~M8x75 12 21 35 5 395 10 285 32
RK-125 125 25 160 140 130 110 35 50 25 82 172 M24x3.0 6-M12x20 M8x85 12 25 45 5 385 10 285 32
RK-150 150 30 190 170 130 110 45 55 25 95 184 M30x3.5 12-M12x24 M10x100 16 32 45 5 37 10 285 32
RK-200 200 35 245 220 145 120 55 70 35 115 201 M36x4.0 12-M16x30 M10x125 21 38 60 5 |38 6 285 28
RK-250 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 12-M20x35 M16x175 28 45 65 12 33 18 6 -

AUTOGRIP 72



S 3000 B3 5 [BR ] B
ROTATING HYDRAULIC CYLINDER

RE . S - KSIVEERERT] -

LRI O HERHEE 2 -

For short form, light weight and high speed rotary cylinder.
Can screw it from the rear end of the cylinder when mounting.

R EBEME R ELREE DR EESE -

The drain port should be independently connected to oil tank to avoid back

pressure.
=
[
——F — L,
2 6~L1 ]
= L ,
\ re) @
il i [N A: I.D. A& N1
ABDr ¥ m Bost 7 || T
4 Sl u W o=
1 - B \| &l Q Q| Al O (é)
g L TS — 1 Ql Q
1 o N K
RC1/4” !
Drain Port 38587 ‘ R ‘ ‘ P
Q
2~RC3/8"(RK-200N:RC1/2") — 5 L
(RK-75N:60) Pressure Port  #35#7L I
‘ 77 5(RK-250N:90) H G
J
REBIEERAER
Subject to technical changes
#1li#1& SPECIFICATIONS
EISR ‘ JEEEE Eff. piston area 172 EaOEH EaERAES ‘ | Es
‘ #8{8 (Extend) ‘ HiI{8l(Retract) Piston stroke Max. speed Max. pressure ‘ Moment of inertia Weight
Model
‘ cm? ‘ cm? mm min'(r.p.m.) MPa(kgf/cm?) ‘ kg-m? kg
i RK-75N 44.2 371 15 6000 4.0(40) 0.01 2.8
@I
H RK-100N 78.5 715 20 6000 4.0(40) 0.03 4.3
53
| RK-125N 122.7 113.1 25 6000 4.0(40) 0.05 6.8
ﬁ RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 9.4
RK-200N 314.1 290.4 35 5500 4.0(40) 0.28 15.3
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 45.2
4R~ DIMENSIONS
E G G M
Model ‘A B ‘ C | D1 | D2 (h7) I o J K ‘ L ‘ L1 L2 (H8) N N1 P Q R S

RK-75N 75 15 107 90 90 65 30 45 30 57 1345 M20x2.5 6~M8x16 M8x60 12 21 35 5 28 10 275 26
RK-100N 100 20 132 115 100 80 30 45 25 72 1495 M20x2.5 6~M10x20 M8x75 12 21 35 5 26 10 28.5 32
RK-125N 125 25 160 140 130 110 35 50 25 82 159.5 M24x3.0 6~M12x20 M8x85 12 25 45 5 26 10 28.5 32

RK-150N 150 30 190 170 130 110 45 55 25 95 1725 M30x3.5 12~M12x24 M10x100 16 32 45 5 26 10 28.5 32

RK-200N 200 35 245 220 145 120 55 70 35 115 1925 M36x4.0 12~M16x30 M10x125 21 38 60 5 30 6 285 28
RK-250N 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 6~M20x2.5 M16x175 28 45 65 12 37 18 6 -

73 AUTOGRIP



il
[
i3
il
ft

RH ch & {0 8 BRG]
ROTATING HYDRAULIC CYLINDER

LDERREIRERAERESSREMNMN  E85K -
EEBALRKRE  EEABNEEERINES R LA - MAEm S &
L IERE -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

® Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

n CHRAREBNEBZELOEEE DBREELTRE -
®  The drain port should be independently connected to oil tank to avoid back

pressure.
L
1 \\}
o A B L Dr - alo
wL
™
RC1/4”
Drain Port JEH7,
2~P
13(RH-200:14)  Pressure Port #2371,
6
102 H G
J
REBIRBIE LR
Subject to technical changes
g #i1& SPECIFICATIONS
Eidlr SEZEATE Eff. piston area 712 R aEE] EafERR I B2
# il (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Zz
Model N
cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) kg-m? kg ;@
BR
RH-65 31.0 27.9 15 6000 3.5(35) 0.01 2.9 |
RH-80 47.7 42.8 15 6000 3.5(35) ‘ 0.01 3.4 ﬁ
RH-100 75.4 70.5 20 5500 3.5(35) 0.04 4.9
RH-125 119.6 112.5 25 5500 3.5(35) ‘ 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
4R ~T DIMENSIONS
E G G M
Model A B ‘ C D (h7) F miere | i H J K L (H8) N P Q R ‘ S ‘
RH-65 65 15 98 80 60 | 22 45 30 73 175 M12x1.75x30 6~M8x16 14 4 RC3/8 30 15 45
RH-80 ‘ 80 15 ‘ 112 90 65 25 45 30 74 176  M16x2.0x30  6~M8x16 17 4 RC3/8 30 15 45 ‘

RH-100 100 20 135 100 80 25 45 25 885 190.5 M16x2.0x30 6~M10x20 17 4 RC3/8 30 15 45
RH-125 ‘125 25 ‘160 130 110 30 50 25 955 197.5 M20x2.5x35 6~M12x20 21 4 RC3/8 30 15 45‘

RH-200 200 35 245 145 120 55 70 35 130 232 M36x4 12~M16x30 38 5 RC1/2 31 16 43

AUTOGRIP 74



il
[
i
il
ft

RA b &5 700 42 78 [BR ]

ROTATING AIR CYLINDER

LEREREAIRERATRESSHENAN - E8K -
LEESESRRE  EFRRESAERERERN)  ROREBESKE
® The rotary valve and cylinder body, all made of special light alloy, are light-
weight.
®  Through unique design, the rotary valve can considerably reduce the waste
in compressing air and efficiently increase its utillization.

FAR FRAMENRE -
When used, a little oil mist should be contained.

L
A: 1.D.AK
|/
{:":77'
I 5 _
Al Sy
_ AT St el w o O @
N ——-u QI RV, § Q| 8 Q
3 K
/ L |
[ T I
‘ 15| 36.5
! N
,,,,,,,, _ Silencer 2~RC1/4”
r JHE R Pressure Port
\ - BwEil
| 95 H G
B J
REBIIEIE R HOMF
Subject to technical changes
#li#1& SPECIFICATIONS
‘ itk ‘ SEZEMEME Eff. piston area 112 EeEEg BefEREN ‘ I 52 ERAERE
vo ‘ ‘ #{l(Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure ‘ Moment of inertia =~ Weight  Air Leakage( 6kgf/cm?)
= Model
i ‘ ‘ cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) ‘ kg-m? kg cc/sec
53
| RA-100 77.0 74.4 15 6000 0.8(8) 0.03 3.9 400
ﬁ RA-130 ‘ 131.2 124.7 15 5000 0.8(8) 0.05 5.2 400
RA-170 225.4 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 ‘ 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400
4MEIR < DIMENSIONS
E G G
‘ Model ‘ A ‘ B ‘ Cc D (h7) F o — ‘ H ‘ J K L M (H8) N
RA-100 100 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 ‘ 130 160 120 90 65 25 45 30 ‘ 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 ‘ 220 255 170 130 110 30 50 25 ‘ 91 186 M20x2.5 6-M12x20 21 35)
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

75 AUTOGRIP



PRt 250 1| R 17 7% #2212 40 8% e BR ] EFkt
ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

A SE - TR EVRE N B -

RIETVOERRE - TIRREES - OIERVHERELIEE{EE -

PRI L B SR s R BR TR ER RS -

LRI o HERHEE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

SR EB N BB RONEE DB eEESE -
TRBAEBIBISRUEEULRFEE - (F/Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

Stroke Detection Type can be customized to Linear Positioning System.

»
N
L2
6~L1
2x2~M5x0.8
R e R —
ALD. A7 5 r
B: St. 1772| |~
_ m%u w & 8lo
[ (i EITESIES RS RSIRSIRS
% 1 T
! P ! RC1/4” T _n
UL BB Drain Port %7, / | B==
78 78 27(RS-200:29.5) ‘\‘1;0 5*7* (L
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port #3H7L J
RS-200 RS-75,100,125,150
RBIBIE SRR
Subject to technical changes
R li#31% SPECIFICATIONS
By BEEM ER. piston area iR BEEHY BEEREN | | E
vo
Vodel ‘ # il (Extend) ‘ H1fil(Retract) Piston stroke Max. speed Max. pressure ‘ Moment of inertia Weight =5
oce ‘ cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) ‘ kg-m? kg ;;.i
RS-75 43.0 37.1 15 6000 4.0 (40) 0.01 3.4 5E
Ed
RS-100 77.4 715 20 6000 4.0 (40) 0.04 4.9 ;’I’
RS-125 121.6 113.1 25 6000 4.0 (40) 0.05 7.4
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 290.4 35 5500 4.0 (40) 0.29 15.9
4MUR <) DIMENSIONS
E G G M
Model A B Cc D1 D2 (7) F ey H H1 H2 J K L L1 L2 (H8) N
RS-75 75 15 107 90 90 65 30 45 30 57 42 145 202 M20x2.5 6~M8x16 M8x60 12 21 35
RS-100 100 20 132 115 100 80 30 45 25 72 42 145 217 M20x2.5 6~M10x20 M8x75 12 | 21 | 35
RS-125 125 25 160 140 130 110 35 50 25 82 41 144 226 M24x3.0 6~M12x20 M8x85 12 25 45
RS-150 150 30 190 170 130 110 45 55 25 95 39 142 237 M30x3.5 12~M12x24 M10x100 16 32 45
RS-200 200 35 245 220 145 120 55 70 35 115 34 1425 2575 M36x4.0 12~M16x30 M10x125 21 38 60

* 3T #%BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AUTOGRIP /6



’ RS-N (TEZHIREm e s

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

A S - (TIZEHI AR ER ] -
BTV BERR - (TERERS - aERHBRLEEES -
LR HEREE 2 -
For short form, high speed and stroke control.
i;\ With proximity sensor , the movement of the position is easy to adjust and
e confirm when operating.
® Can screw it from the rear end of the cylinder when mounting.

SRMA R EBNEBZEOEEE  DBRELTRE -
TRBAEEIE SR EEN R TS - (F1Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

&% AB LDr 6-L1 2
===
o | e
ﬂz’%ﬂ%r - @%ngfl 88858
RC1/4” ’W:ﬁ A_‘_— N
Drain Port 3317, Sl | 2 =
| 10 EAINR NS
2-RC3/8"(RS-200N:RC1/2") | 13144S-200N:134.5) H G
RS-200N Pressure Port 4 H4L J
Stioet o el changes
i #31& SPECIFICATIONS
HlgR SEZEEME Eff. piston area 712 B mEg = EREN | 2
# Al (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg
RS-6520N 32.0 28.3 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 28.3 30 6000 4.0(40) 0.01 &3
:g'é RS-75N 43.0 371 15 6000 4.0(40) 0.01 3.3
;% RS-7530N 43.0 371 30 6000 4.0(40) 0.013 3.7
;g RS-100N 77.4 71.5 20 6000 4.0(40) 0.04 4.8
;—Ir RS-125N 121.6 113.1 25 6000 4.0(40) 0.05 7.3
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9
SMEUR S DIMENSIONS
Model A B C DI D2 (r:57) FoS S J K L L1 L2 (Ms) N
RS-6520N 65 20 97 80 80 60 25 45 25 62 193 M16x20  6~M8x16 M6x70 145 17 30
RS-6530N 65 30 97 80 80 60 25 45 15 62 203 M16x20  6~M8x16 M6x80 145 17 30
RS-75N 75 15 107 90 90 65 30 45 30 57 188 M20x25  6~M8x16 M8x60 12 21 35
RS-7530N 75 30 107 90 90 65 30 45 15 72 203 M20x25  6~M8x16 M8x75 12 21 35
RS-100N 100 20 132 115 100 80 30 45 25 72 203 M20x25  6~M10x20 M8x75 12 21 35
RS-125N 125 25 160 140 130 110 35 50 25 82 213 M24x30  6~M12x20 M8x85 | 12 25 45

RS-150N 150 30 190 170 130 110 45 55 25 95 226 M30x3.5 12~M12x24 M10x100 16 32 45
RS-200N 200 35 245 220 145 120 55 70 35 115 2495 M36x4.0 12~M16x30 M10x125 21 38 60

* 3T #%BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

77 AUTOGRIP



’Rl. P38 11 f ) 7K B 2 855 BR FiRAE

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

B - JEKEEEMEGE - o] KERIRHEATIHIK -
T LR B SR AR R R )R BR S -

To allow coolant to be feed from the rear end of the distributor through the
rotating union
® Built-in safety check valves and pressure relief valves.

5§5E}L@Eﬁ§“‘2\$§%?§@fﬁl§_§% B REEEE

EKEERRIREIBN - BFYEE -

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

6~L1 *’L_Z‘«
- r ==
(1)
RC1/4" o -
Coolant Port {£7K#, — g IS?E;E 8
/_‘ﬁ : St T»H«
() N e T llglslue s so
o T[] SN
™ | [
s n i oK
RC1/8” ‘ .
Coolant Drain Port %7K CE—
<& 20 H1 S
T
RC1/4” 11 5 L
13,13 E Drain Port S8387, Ho H 5 =
60 C/O
1
J
(
A
C-Dr T 2~RC3/8"(RL-200:RC1/2")
A B\ Dr Pressure Port  #55H17L
PV Limit value 14400 MPa-r/m
PV BRHIE
RBBIEIERAOHER
Subject to technical changes
F2fir #5215 SPECIFICATIONS
BISR JEZEMETE Eff. piston area 1712 EeEEY EeERES EKEB = RES I 52
. Coolant connection - .
Mode! 818 (Extend) 118l (Retract) Piston stroke Max. speed Max. pressure Max. pressure Moment of inertia Weight -
cm? cm? mm min(r.p.m.) MPa(kgficm?) MPa (kgf/cm?) kg-m? kg S
RL-75 42.6 371 15 6000 4.0(40) 3.5(35) 0.01 3.1 ;?E
RL-100 77.0 715 20 6000 4.0(40) 3.5(35) 0.04 46 ;iii
L
RL-125 121.2 113.1 25 6000 4.0(40) 3.5(35) 0.06 71
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 312.5 290.4 35 5500 4.0(40) 3.5(35) 0.30 15.6
SMEIR < DIMENSIONS
Model A B C D1 D2 (5) F Gmax. Gmin. H H1 H2 J K L L1 L2 (}-’\|/£|5) N
RL-75 75 15 107 90 90 65 30 45 30 57 42 | 137 194 M20x2.5 6~M8x16 M8x60 12 21 35

RL-100 100 20 132 115 100 80 30 45 25 72 42 137 209 M20x2.5 6~M10x20 M8x75 12 | 21 | 35

RL-125 125 25 160 140 130 110 35 50 25 82 | 41 136 218 M24x3.0 6~M12x20 M8x85 12 25 45

RL-150 150 30 190 170 130 110 45 55 25 95 39 134 230 M30x3.5 12~M12x24 M10x100 16 32 45

RL-200 200 35 245 220 145 120 55 70 3% 115 36 132 248 M36x4.0 12~M16x30 M10x125 21 38 60

AUTOGRIP 78



ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

’ RL-N )& 7K BU 300 826k [BR 1] B

o B EKAVEEMEG - o] AHEREATIHIK -
o ZEFUHERHEEY -
)?\ ® To allow coolant to be feed from the rear end of the distributor through the
. rotating union.
D ® Can screw it from the rear end of the cylinder when mounting.

RSB N BB RODHEE  DIBREESE -

EKERERRIREIBN - FYEE -

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

6~L1 »’L_z‘«
RC1/4” .
Coolant Port {#7KF, A LD. A [17g I
B:St. 7% || . i.
N /I | =
. S el | [ Hﬁsil-l- o=
v/ il o | TSI CTR=TR=TRS
& ﬁ - Q8
s ﬁ» G |‘: B 71‘\ N \\i(
RC1/8" J S— Ll L | .
Coolant Drain Port 27K, j—
- 20 28 S
RC1/4” 5 L
18, 18 Drain Port &7, 110 =
3.5 H G
60
C, J
( 2~RC3/8”(RL-200N:RC1/2”)
A Pressure Port #H 7L
C-Dr H-3
PV Limit value 14400 MPa.r/m A B | Dr
PV BRHIME
(REBRAEBAOHER
Subject to technical changes
154218 SPECIFICATIONS
s ‘ SEZEMETE Eff. piston area 718 ReOE BaEREN KB R = AR | S
N Vodel ‘ 818 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure Coal:;t:g;r;i?teion Moment of inertia Weight
;E ‘ cm? cm? mm min“'(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
/|
|2 RL-75N 42.6 37.1 15 6000 4.0 (40) 3.5(35) 0.01 3.0
o
i RL-100N 77.0 715 20 6000 4.0 (40) 3.5(35) 0.04 45
i
RL-125N 121.2 113.1 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 3125 290.4 35 5500 4.0 (40) 3.5(35) 0.29 15.5
ShEYR T DIMENSIONS
Model A B © D1 D2 (57) F | G max. G min. H J K L L1 L2 (}"\|/I8) N
RL-75N 75 15 107 90 90 65 30 45 30 57 180 M20x2.5 6-M8x16 M8x60 12 21 35
RL-100N 100 20 132 115 100 80 30 45 25 72 195 M20x2.5 6-M10x20 M8x75 12 21 35
RL-125N 125 25 160 140 130 110 35 50 25 82 | 205 M24x3.0 6-M12x20 M8x85 12 25 45

RL-150N 150 30 190 170 130 110 45 55 25 95 218 M30x3.5 12-M12x24 M10x100 16 32 45

RL-200N 200 35 245 220 145 120 55 70 35 115 240 M36x4.0 12-M16x 30 M10x125 21 | 38 60

79 AUTOGRIP



RL-AN yF 7 AU 3o e BR T B
ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

o BR IRIEEMEL - UAHEREETESR -

o ZEFUHERHEEY -

® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.

® Can screw it from the rear end of the cylinder when mounting.

AR FRAMENNZE -
When used, a little oil mist should be contained.

6~L1 4’5‘«

EoR
RC1/4”
Air Port &7 A lLD. R ] ) I
B: St. 7% | |
—F 712 : H$
ey | e STl o =
B O o Q) a ol
() s El (1l s
RO1AT =l
\6%/ Drain Port SE5H7 57 28 =1
1 13 2~-RC3/8'(RL-AZ00N:RC1/2") | 10 S NL
60 ' Pressure Port  #4#7L 1095 H G
| Air
J
H-33
A B | Dr
RIS ERA R
Subject to technical changes
#li#1& SPECIFICATIONS
‘ BISR ‘ JEZEMHTE Eff. piston area 1772 EeEEg EeERES ARBESEREN | 5= o
@I
A Air connection L . N
‘ Vol ‘ 818 (Extend) HiI{fl(Retract) Piston stroke Max. speed Max. pressure Max. pressure Moment of inertia Weight S
ER
‘ ‘ cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg %
RL- A75N 42.6 371 15 6000 4.0(40) 0.8(8) 0.01 3.0 [
il
RL- A100N ‘ 77.0 71.5 20 6000 4.0(40) 0.8(8) 0.04 4.5
RL- A125N 121.2 113.1 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N ‘ 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 312.5 290.4 35 5500 4.0(40) 0.8(8) 0.29 15.5
4hNEIR < DIMENSIONS
E G G M
‘ Model ‘ A B © D1 D2 (h7) F e | @i ‘ H ‘ d K L ‘ L1 ‘ L2 (H8) N
RL- A75N 75 15 107 90 90 65 30 45 30 57 166  M20x2.5 6~M8x 16 M8x60 12 21 35

RL-A100N ‘ 100 20 132 115 100 80 30 45 25 72 181 M20 x2.5 6~M10x20 ‘ M8x75 12 21 35
RL-A125N 125 25 160 140 130 110 35 50 25 82 191 M24x 3.0 6~M12x20 M8x85 12 256 45
RL-A150N ‘ 150 30 190 170 130 110 45 55 25 95 204 M30x3.5 12~M12x24 ‘ M10x100 = 16 32 45
RL-A200N 200 35 245 220 145 120 55 70 35 115 225  M36x4.0 12~M16x30 M10x125 21 38 60

autocrip 80



RC 300 B 437 O A3 AU 4000 BE 5 [BR ] TR R
HYDRAULIC CYLINDER WITH ROTATING JOINT

o hERGEEMELI -

o TUISMEERENLBELEEE B RERERIKPOLKHFEK -
o NEYILMEHKESE -

o ORI TIER RSt AR MRS RUAIZRIET TR A -

® Medium and solid hydraulic cylinder with channel.

[ J

Can choose an external rotary joint with either single or double paths.

® |t meets the demand for coolant through spindle and airtight pressure detect
function.

® Has a buil-in check valve for safety.

®  Stroke control via proximity switch or linear positioning system.

MERBERIMNEE BB ERE N EERAERER -
The proximity switch and single or double paths rotating joint are optional.

6~L1 L2
20
10 sl B
[ 5
S A: 1.D.AR
2~R —— B: St. 1712
Pressure port A,B
L AB é o | K
N
e I [ iaws =
= © Sluw ol §
g%gﬁLi Sy | § s s 8§
8 — = [
‘j) — M1
Q1
I Hj LUl N
Dr
23.5 ‘
Q||P
H
G2 J G1
REBRIBIELAER)
Subject to technical changes
2 {ir#71% SPECIFICATIONS
pith JEZEMTE Eff. piston area 112 eEE EeERES | 58
{3l (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min“(r.p.m.) MPa(kgficm?) kg-m? kg
7o
:E RC-85 43.8 481 20 5000 3.5(35) 0.01 6.8
;g RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
| RC-125 109.8 108.5 25 5000 3.5(35) 0.03 111
ﬁ RC-145 152.2 143.9 30 5000 3.5(35) 0.03 14.6
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 35.5
SMEUR~F DIMENSIONS
Model A B C1 C2 D E (h7) 7 G1max. G1min. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150 M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 158.5 M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164 M30x1.5
RC-145 145 30 187 183 165 110 50 55 25 38 8 89.5 169.5 M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 51.5 16.5 120 2225 M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R S1 S2 T T2
RC-85 6~M8x75 12.5 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 12.5 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 11 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

81 AutocriP



HYDRAULIC CYLINDER WITH ROTATING JOINT

’ RC 3 8 452 GE SN B 10 e S [BR AL BRI

o OEEENTERBALELL -
® Rotating joint and Proximity switch with bracket type.

With double paths rotating joint(Fixed type)

With single path rotating joint (Fixed type)

-
9
. =
L
e
ini - L
Ba  B@EE Bal  gEE
M1 M2

With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

B ARV ANANSZIR S RSN

linear Sensor with bracket Proximity switch with bracket

Z=
i
[
@
L
il

<R B A R T - * The proximity switch and rotary joiint are optional.
* Ol EFT S @AM IR - * Choose and attach the appropriate type.

P RHMRENER T R R R - * Please contact AUTOGRIP for more detailed drawing.

AUTOGRIP 82



TSR S R B AR AL (— ) p ekl
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

SR - SRS REE R -

IR B SR - R B RTREERIEERRE -
ZEREHAEREEZ

For short form, light weight and high speed rotary cylinder.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

SMA R EBNEREOHEE  DUBRELER -
TRBAERB BN SR EEN R FEE - (F]Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8” s T
Pressure Port A,B ! _
443 1 A:|l.D. A N K
#3mA AB | HE Bist. 772 Ve
S R
A 1 wl w g o
5 @ NI mEE] %J S| 8 § ®
| 15 S
H
i | |125 - =3
Drain Port ‘ NL
S H L1
[ J G
Drf AB
REBRIBIELAER)
Subject to technical changes
z T #31& SPECIFICATIONS
;g B ‘ JEZEETE Eff. piston area 172 EeEEg EaERES | 582
o ‘ # il (Extend) ‘ HiI{8) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
i Model
1 ‘ cm? ‘ cm? mm min(r.p.m.) MPa(kgflcm?) kg-m? kg
RE-110 92.7 87.9 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 130.4 123.1 30 6000 4.0(40) 0.03 9.1
4M R <) DIMENSIONS
C G G M
Model A B n7) D E F — min. H J K L L1 (He) N
RE-110 110 20 | 145 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 21 168 145 42 29 60 39 69.5 148 M20x2.5 6~M10x75 17 22 85
RE-130 130 30 168 150 50 33 60 30 795 158 M24x3.0 6~M10x85 17 27 40

* 3T#%B3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

83 AuTtocrIP



BT A R B ( sumn
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

o B KSERSGAVEEHEL  HABSEARIAER -
—_— o ANEYIMBEHKE  RERRITRRZEHIERRER -
. espTmsmRE-
® For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.
°

Built-in safety check valves, pressure relief valves and proximity sensor.
® Can screw it from the rear end of the cylinder when mounting.

EMA R EB M ERELHEE DR ELE R

TR E SR I E AL R RS - ( Ti’f—iumu )

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

~ L2
2x2~M5x8 (L“\
nt\ i @ _ } _ }i
dndth
s T v
S .
1/ L _
[ — 5
. K
A: 1.D. A
B: St| 1712
A Siulw AN| —
) - - - al o
g s8] g ©
\ 1
1 O
2~RC1/2" 4‘ P EV\1 ~L
Pressure BPort AB —
(RE 1502 ~RC3/8")
- H G
RC3/8" J
Drain Port JEAFL
(RE-150:RC1/4") f
Dr | AB
REBRIBIELAER
Subject to‘technica\ ‘changes EI‘D:
g #i1& SPECIFICATIONS ;Ei
RIS JEZEETE Eff. piston area 112 BeEEg EaERES | 58 ;E
{8 (Extend) 118 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight =
Model
cm? cm? mm min'(r.p.m.) MPa(kgf/cm?) kg:m? kg il
RE-150 174.4 160.8 30 5500 4.0 (40) 0.06 14.9
RE-200K 292.4 274.9 85) 4000 4.0 (40) 0.19 29.1
RE-200L 292.4 265.4 50 4000 5.0 (50) 0.21 30.4
RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
4MER <) DIMENSIONS
E G G M
Model A B C D1 D2 (h7) F T — H J K L L1 L2 (H8) M1 N P Q
RE-150 150 30 205 180 130 110 45 60 30 99 177.5 M30x3.5 M12x24 M12x105 (185 32 10 50 125 114
RE-200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 | 27 38 12 65 15 150
RE-200L 195 50 257 225 170 125 65 80 30 135 254 M42x3.0 M16x30 M16x145 | 27 45 12 65 15 150
RE-250 245 60 307 275 220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 | 28 45 12 65 15 150

* 3T#%B3R : DC 10-30V 100mA NPN ©

*Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 84



COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

A RE-A EEEEREmEEmET () sumnm

S KSERGITREEDNEL - JARERH‘EER -

N B SHEE - R B RITIR TR -

ZERUBEREREZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SR EB N BB EORERE DB RELESEE -

ERE - FEANENHE -

TRBMEBIEBIASREEULRREE - (F/Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

,‘ | =
1 L = —
Th=— ap.r&E | N K
T A s O
- 1 _ | wiw A
8 { \ | ®1 Q| 9l
8
”%Q 15
l
o R ==
12.5
H L1] WL
2~RC3/8” , M J G
Pressure Port A,B RC1/4 o AB
#m+L A,B Drain Port 8587, Dr |,
o
e IREBIRIBIE LR
;E Subject to technical changes
B 141381 SPECIFICATIONS
o
RIS JEZEETE Eff. piston area 1712 EeEy E=ERES ARNESERES I B8
i
il 848 (Extend) HiI{8)(Retract) Pigton stroke Max. speed Max. pressure ,:;Iir L Moment of inertia Weight
Modl ax. pressure
cm? cm? mm min(r.p.m.) MPa(kgficm?) MPa (kgf/cm?) kg-m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 128.9 123.1 30 6000 4.0(40) 0.8(8) 0.03 9.1

ShEYR T DIMENSIONS

Model A B (h7) D E F max. | min. H J K L L1 (H8) N
RE-A110 110 20 145 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 21 168 145 42 29 60 39 695 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 30 168 150 50 33 60 30 795 158 M24x3.0 6~M10x85 17 27 43

* 3% BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

85 AuTtocrIP



COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

’ RE-A ISRE AT RIEEHERG () BREEn

S KSERGITREEDNEL - JARERH‘EER -

N B SHEE - R B RITIR TR -

ZERUBEREREZ -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

Can screw it from the rear end of the cylinder when mounting.

SRMAREBNERZEOHEE DBRELTRE -

FERE - FEAMENHEE -

TRBAEBIE ISR EEN R TS - (F1Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

2x2~M5x8 6i‘1\ <L—2»‘
\
j L B—— 7 -
U= 5
e Tl — -
< A 1.D. R1E TELLLIJN
f o 1|l B EnE Be
S 5 B: St| 712 ©8 85| g8
el N,
I = SR
R ﬁ;ﬁ = =
Pressure Port A,.B p 12~L
47, A B BN |
(RE-A150:2~RC3/8”) = —
RC3/8" Air | H G
Drain Port ;8H+L — 1Oz ‘
(RE-A150:RC1/4”) J
RC1/4”
Air Port SE&L I
(RE-A150:RC1/8”) br | AB
REBIRIBIE LR
Subject to technical changes go
@I
i #5215 SPECIFICATIONS H
BR
EISR JEZEMHTE Eff. piston area 1772 EaEEH EaEAES IREEEERES I 5= ;E
Model 848 (Extend) HiI{fl (Retract) Piston stroke Max. speed Max. pressure G;;T:;?L?g Moment of inertia Weight ﬁ
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A150 174.4 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 292.4 274.9 35 4000 4.0(40) 0.8(8) 0.19 29.1
RE-A200L 292.4 265.4 50 4000 5.0(50) 0.8(8) 0.21 30.4
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 0.43 47.2
4R~ DIMENSIONS
E G G M
Model A B (o] D1 D2 (h7) 7 e H J K L L1 L2 (H8) M1 N P Q

RE-A150 150 30 205 180 130 110 45 60 30 99 1775  M30x3.5 M12x24 M12x105 18.5 32 10 50 125 114
RE-A200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-A200L 195 50 257 225 170 125 65 80 30 135 254 M42x3.0 M16x30 M16x145 27 45 12 65 15 150

RE-A250 245 60 307 275 220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3% BAR8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 86



5 AR e AT KB Em BT (— ) BREED
COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

A RE-L

o TR KSESITKEEMET - olARERHATIHIK -
o NEFITFBEHKE  SREBMRTIEEGaEREE -
o LEREFUMEBIKHEEZ -
®  For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.
SEMA R EB L EREOOEE DBRELER -
KBRS  FEE -
TRBAEB BN SR ET N RS - (F]Hm)
The drain port should be independently connected to oil tank to avoid back
pressure.
The rotary cylinder should not run without liquid through coolant port.
Stroke Detection Type can be customized to Linear Positioning System.
2~RC3/8" C
Pressure Port A,B T Pr
#amfL AB [/ L ii
C-Dr i L e
Dr AB == N _ K
. /
A ALD RE. L LIzt
,,,,,,,, = l_lAn | A ey TElulag
5| 10 W¥ Bt - Lt Q188 g|d
|
8
nil Hﬁﬁ 15 ~F-
RC1/8” ‘ 4 A D
Coolant Drain Port ‘ e i g
HBIKAL H L1 L
23.5] |125 ‘ ~—
RC1/4” N RC1/4" J G
Collant Port jF7K4, Drain Port 837,
z
;@ Sutiet o tchrial changes
BR
i@ $: T #5345 SPECIFICATIONS
# Eidh i JEZEETE Eff. piston area 718 BEEEH e ERES KA EREEREN I ES
i 848 (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure Co'\c;llant ERNREE Moment of inertia Weight
Model ax. pressure
cm? cm? mm min”(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-L110 92.7 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 9.1
RE-L130 128.9 123.1 30 6000 4.0(40) 1.5(15) 0.03 9.5
4R <) DIMENSIONS
Cc G G M
Model A B (h7) D E F max | min. H J K L L1 (H8) N
RE-L110 110 20 145 128 42 29 60 40 66 169.5 M20x2.5 6~M8x70 12 22 38
RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38
RE-L130 130 30 168 150 50 33 60 30 795 1815 M24x3.0 6~M10x85 17 27 43

* 3T%B3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

87 AuTOGRIP



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

’RE-L PR AL S B KB B MR () T

o FiF KEESET/KEEMEG - lERREHRATHIK  HrBEGER
RIIFER -

N IEREHEEE - R B RTRZERILEFRRE -

ZERRHEREEZ

For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union, suitable
for vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

SR EB N BB RONEE DB REES

TEKERERRASEIBNS - BFYEHE -
TRBAEBIEBISRUEEULRFEE - (I Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2x2~M5X8 6% L2
i B SN - T ]
2~RC1/2" i Y H i =
Pressure PortA B il
48520 A i .
(RE- ass. ~RC3/8") ——— K
2 o
= A: LD. Vw -
8 S % 'iﬁg alalo
‘% @ o B: St. 1712 - SIS
RC3/8" 125| [ — N M
Collant Port J¥7KF, TEP——— i
- — 12~L
P —
25 .
RC3/8”
Drain Port 83#7, C H G
(RE-L150:RC1/4") e J
RC1/8” -
. 3 C-Dr I
Coolant Drain Port 87KFL Drl AB

IREBRABIELAOER]

Subject to technical changes

i iR & SPECIFICATIONS
itk SEZEMETE Eff. piston area 112 BEOEY =afEREN KSR RS E AR | s

Coolant connection

i

Z=
i
[
@
L
il

ol Bfl(Extend)  #Ifl(Retract) Piston stroke Max.speed | Max. pressure o et Moment of inertia  Weight
cm? cm? mm min-'(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-L150 174.4 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 292.4 274.9 35 4000 4.0(40) 1.5(15) 0.19 29.4
RE-L200L 292.4 265.4 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 4382 60 2000 5.0(50) 1.5(15) 0.43 475

ShEYR <) DIMENSIONS

Model A B C D1 D2 (h7) F max. | min. H J K L L1 L2 (H8) M1 N B Q

RE-L150 150 30 205 180 130 110 45 60 30 99 201 M30x3.5 M12x24 M12x105 18.5 32 10 50 125 114
RE-L200K 195 35 257 225 145 120 55 73 38 120 264 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-L200L 195 50 257 225 170 125 65 80 30 135 279 M42x3.0 M16x30 M16x145 27 45 12 65 15 150

RE-L250 245 60 307 275 220 160 65 85 25 165 305 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3T%B3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 88



’ RD P50 | ] S5 45 24 20 856 [BR ] i

DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

o JEE . BB . BREEEMET -
o NI IR SHAAE KR TR BR R -
E— ®  For short form, light weight, double rod rotary cylinder.
® Built-in safety check valves and pressure relief valves.
SERALECERB N BB EORERE DR RELESEE -
The drain port should be independently connected to oil tank to avoid back
pressure.
,,,,,,,,, Cylinder A Cylinder B 6~M12x1.75x24
A: 1.D. A& q
P M42x1.5
. (L
B: 1.D. A& 35 _
| £ M20x2.5
Ty o -
e Q U | TR B s
3 s = § % °
= RC1/4” W ! 35
1313 Drain Port 2L 2 40.5 51,
0 — ]
T 2-RC3/8"
60 Pressure Port ## 90 c F
D E
REBIVEEBEOHER
Subject to technical changes
g #i1& SPECIFICATIONS
JEZ ETEES. piston area
BISE 718 ReOEY EeERRT | E3
7o # {8l (Extend) Hi1fil(Retract)
’EH A B A ‘ B Piston stroke Max. speed Max. pressure Moment of inertia Weight
|2 Model
A} cm? cm? cm? ‘ cm? mm min”'(r.p.m.) MPa(kgf/cm?) kg-:m? kg
#
£ RD-120 122.7 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.3
RD-125 122.7 126.1 116.1 113.1 25 5000 3.0(30) 0.15 11.5
SMUR ST DIMENSIONS
Model A B C D E max. E min. F max. F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55) 30 35 10

89 autocrIP



L

SR AL TS BR ]
DOUBLE ROD ROTATING CYLINDER

R R - EREEE R -
For short form, light weight, double rod rotary cylinder.
n EHAREBRNEBECIREE  DURRELSE -
The drain port should be independently connected to oil tank to avoid back
pressure.

Cylinder A ?ylinder B 6~M12x1.75x24
. 1
ALD. Wi ﬁ M42x1.5
B |D W gé ‘ 35ﬁ [ ——
o ‘ I M20x2.5
| o
(é‘% %j} A B LDr ﬂ o — o o '.E ol o
N — © / O < | ~
— S o S
8 10| L%Ji Q
L RC1/4" L I 35
Drain Port #H7fL H
27, 28 5.1
13113 0 —=
" 2~RC3/8” .
Pressure Port #H7L 77 C F
60
D E
REBRBIERRER
Subject to technical changes
R ili #3148 SPECIFICATIONS
JEZHTEES. piston area
Fith 712 EeEY EaEREN | E
{8 (Extend) HI{8l(Retract) pac]
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight ?
Model i
cm? cm? cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg:m? kg C|
L2
RD-120N  122.7 126.1 1161 1131 20 5000 3.0(30) 0.14 1.2 41
RD-125N 1227 126.1 1161 113.1 25 5000 3.0(30) 0.15 11.4
MR <) DIMENSIONS
Model A B C ‘ D E max. E min. ‘ F max. F min.
RD-120N 125 130 137 ‘ 214 60 40 ‘ 35 15
RD-125N 125 130 147 ‘ 224 55 30 ‘ 85] 10

autocrip 90



